Work and Efficiency IB11
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1. An electric motor has an input power of 160 W. In raising a load, 120 W
of power are dissipated. What is the efficiency of the motor?
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2. A student does 400. J of work using a pulley to raise a 72 N box to a height of
5.0 meters. m.. (/O{Um/ﬂf JEQL @ T
a) How much work does the student do agamst grav1ty ‘ & @
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b) How much work does the student do against friction? (b{h \}'
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c) How efficient is this pulley?
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3. A 160.-newton box is pulled to the top of a frictionless ramp 11It.onstant speed l
as shown in the diagram. Calculate the amount of work done.' —
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5. An 8.0 newton force is used to pull a
10.0 newton box 6.00 meters up a

rough hill at[constant spce(ra\s shown
in the diagram.

a) How much work was done pulling the
box up the hill?
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b) How much w;f)rk was done overcoming gravity?
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¢) How much work was done overcoming friction?
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d) How efficient is this process?
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